Bowling Night
Logic Grid Puzzle (SR O ®

bain

Four friends brought their favorite bowling ball to play bowling together. How many points did the Blue Ball's owner score?

1. Kelly, the player who scored 100 points, and the player who 5. Paula scored 10 points less than the player who owns the

scored 95 points are three different players. 14 1b ball.
2. The gold ball weighs 15 1b. 6. The player that scored 100 points is either the owner of the
3. Josh's ball is black. green ball or the owner of the 15 1b ball.
4. The player who scored 100 points, Paula, and Josh are three ~ 7- The owner of the heaviest ball scored 5 points less than the
different players. player who has the green ball.
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Bowling Night

Logic Grid Puzzle

1. Kelly, the player who scored 100 points, and the player who

scored 95 points are three different players.
2. The gold ball weighs 15 1b.

3. Josh's ball is black.

4. The player who scored 100 points, Paula, and Josh are three
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Four friends brought their favorite bowling ball to play bowling together. How many points did the Blue Ball's owner score?

5. Paula scored 10 points less than the player who owns the

14 1b ball.

6. The player that scored 100 points is either the owner of the

green ball or the owner of the 15 1b ball.

7. The owner of the heaviest ball scored 5 points less than the

different players. player who has the green ball.
(o)
Ny
/ Score / Weight / Color c(s:' §
B E
o O
= o
n «©
25
N/ > .5
S AT T YA T & 5
© RSN S
Josh | % x| % X X | X | X I
==
. Kelly | % X X | X X | X | X =]
£
2 Mark | X X | X X | X X | X X
Paula X | XX X | X X X | X
black | > X|X X
o blue X x x x X
o
8 green | % X | X X | X
gold | X X X | X
13 1b X X | X Score Weight Color
Josh 105 14 40 black
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